Regression Diagnostics 

Paddy Fields Bearing Capacity/Soil Depth Fiber Water Pressure/Tensile Strength
All tests at = 0.05
Paddy Field Soil Depth and Bearing Capacity

P.1. Test for Normality:   
Min Residual = ____________    Percentile = ______________________  z(p) = ______________________

Correlation of Residuals and Theoretical Quantiles = _____________  Reject H0:Normal if Corr ___________

P.2. Brown-Forsythe for Constant Variance:  Break Point = __________  n1 = ___________  n2 = __________
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P.3. Breusch-Pagan Test: 
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P.4. Consider a Box-Cox Transformation for Y = Bearing Capacity. What transformation does the method suggest?

Obtain W for   Geometric Mean of Y = _________________________________

W(+1) = __________________________  W(0) = __________________  W(-1) = _________________

“Best” Transformation: 
Water Pressure and Tensile Strength of Islands-in-the-Sea Fibers – Lack of Fit F-test
5 replicates each at 6 levels of water pressure, Y = Tensile strength of fiber bundde

n = _______   c = _______    dfLF = ____________________  dfPE = _____________________________

[image: image3.emf]Pressure(X_j) n_j Ybar_j Yhat_j SS_yyj n_j*(yb_j-yh_j)^2

60 5

80 5 273.46 266.12 1248.34 269.17

100 5 283.30 275.40 5484.12 311.83

120 5 289.42 284.68 4232.70 112.12

150 5 290.06 298.60 7683.55 364.87

200 5 321.96 321.80 10207.76 0.12


From EXCEL Spreadsheet with data, obtain:
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Compute the Lack-of-Fit and Pure Error Sums of Squares:

SSLF = ______________________________________________________________________
SSPE = _______________________________________________________________________

Test Statistic for testing H0: j = Xj      HA:  j ≠ Xj:

Rejection Region: __________________________   P-Value: __________________________________
_1410253864.unknown

_1410254123.xls
fiber_strength

		Pressure(X)		Strength(Y)				b1		0.4639958603				Pressure(X_j)		n_j		Ybar_j		Yhat_j		SS_yyj		n_j*(yb_j-yh_j)^2

		60		225.6				b0		229.005156533				60		5

		60		189.25										80		5		273.46		266.12		1248.34		269.17

		60		245.86										100		5		283.30		275.40		5484.12		311.83

		60		284.25										120		5		289.42		284.68		4232.70		112.12

		60		281.34										150		5		290.06		298.60		7683.55		364.87

		80		294.22										200		5		321.96		321.80		10207.76		0.12

		80		250.71

		80		272.36

		80		287.13

		80		262.89

		100		318.21

		100		249.14

		100		238.34

		100		298.36

		100		312.46

		120		234.05

		120		293.08

		120		299.33

		120		319.85

		120		300.79

		150		265.53

		150		262.88

		150		367.48

		150		280.29

		150		274.13

		200		278.55

		200		360.15

		200		323.82

		200		373.39

		200		273.9
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